Inferences Quiz

The following situations occur frequently at the bridge table. Try to infer what is going on based on what you see. Remember, you must always assume that both declarer and partner are playing logically.  Be prepared to explain your rationale for each inference. 
I. 


North (Dummy)



♠ J 7 4




Defending a suit contract, you lead the ♠ K,

West (You)


East


partner playing the ♠ 8 (UDCA – thus discouraging) 
♠ K Q T 2


♠ 8


and declarer playing the ♠ 9.



South



♠ 9




Who has the ♠ A?
II.  

North (Dummy)


In the middle of a hand, with hearts trumps, 



♠ K J 9




declarer leads the ♠ K from dummy, both partner
West (You)





and declarer following low. 
♠ A T 4 3








Who has the ♠ Q?

III.

North (Dummy)







♠ A J 2




Defending a No Trump contract, you lead the ♠ 3.

West (You)


East


Dummy plays the ♠ J, partner plays the ♠ Q, and
♠ T 8 6 3


♠ Q


declarer wins the ♠ K. 




South



♠ K




Who has the ♠ 9?

IV. 



North (Dummy)



♠ Q T 6 2



Spades are trump. After winning the opening lead,  

West (You)





declarer cashes the ♠ A.
 
♠ K 9 7











South




Who has the ♠ J?



♠ A

V. 



North (Dummy)



♣ J 7 6 5 4



Defending a No Trump contract, early in the hand, 

West (You)





declarer leads a low club toward the dummy. 
 
♣ Q T 3











South




Do you play a low club or the Queen? 



♣ 2
VI.

North (Dummy)







♠ T 9 8 3



Defending a No Trump contract, you lead the ♠ K.

West (You)


East


Dummy plays the ♠ 3; partner the ♠ 7, (UDCA)
♠ K Q J 4


♠ 7


and declarer plays the ♠ 5. 




South



♠ 5




Who has the ♠ A?

VII.

North (Dummy)







♠ K 4




Defending a heart contract, you lead the ♠ 6.

West (You)


East


Dummy plays the ♠ K; partner the ♠ 2, (UDCA)
♠ Q 9 8 6 3


♠ 2


and declarer the ♠ 5.




South



♠ 5




Who has the ♠ J?
VIII.

North (Dummy)


Defending a heart contract where declarer has 



♠ K J




shown a strong hand, partner leads the ♠ 6. Dummy

West



East (You)

plays the ♠ K.
♠ 6 



♠ A 9 5












Who probably has the ♠ Q?
IX.

North (Dummy)







♠ K 4




Defending No Trump, you lead the ♠ 3.

West (You)


East


Dummy plays the ♠ K; partner the ♠ 7, (UDCA)
♠ J 9 8 3 2


♠ 7


and declarer the ♠ 10.




South



♠ 10




Who has the ♠ Q?

X.

North (Dummy)


Defending a heart contract where you have bid  



♠ A 6 5



spades, and partner has not supported, partner leads

West



East (You)

the ♠ Q.  Dummy plays low.

♠ Q 



♠ K T 7 3 2








Who has the ♠ J?








Would your answer be different if this were no trump?

XI.




North (Dummy)




♠ T


You lead the Jack of Clubs, Partner plays the Deuce, 




♥ T 9 7 6

(UDCA) and Declarer wins the Ace. Declarer draws 2 




♦ 5 4 3 2

trumps and then cashes the AKQ of Diamonds. You have 




♣ 6 5 4 3

(naturally) pitched 2 spades. Declarer next runs four 


West (You)



more heart tricks forcing you to come down to 3 cards. 
 


♠ K J 8 7 4 3




  


♥ 2




What are your last 3 cards? 
 

♦ 7 6




 


♣ J T 9 7

XII.




North (Dummy)




♠ A Q T 4






♥ 5 3

 




♦ Q 7 6 5 4

 




♣ 7 6

  


West (You)



You lead the ♠ 6. Declarer wins the ♠ Q in dummy and
 


♠ 7 6




cashes the ♠ A.  Partner follows to both spades.  Next he 


♥ A Q 6 4



leads a low diamond from dummy to his Ace.  

♦ K T




Declarer now leads a second diamond. Plan the defense 


♣ A 9 8 5 3



from here.

XIII.



North (Dummy)


♠ J 3 2









♥ A 8 4





 


♦ 6 4





 


♣ A Q T 9 8




 
West




East (You)



♥ 2




♠ Q 9 7 6



 





♥ K 7 3

West leads the ♥ 2, dummy ducks, and you win the  






♦ T 9


♥ K.  How do you continue?





♣ 6 5 4 2

XIV.


North (Dummy)


♠ 9 8 3








♥ K 2





 


♦ Q 7 6 5 4





 


♣ T 9 8




 
West




East (You)



♥ Q




♠ J 7 6 5 2



 





♥ A 9 4 3

West leads the ♥ Q, and dummy ducks. 






♦ K


What signal do you give to partner?





♣ 7 6 3

Inferences Quiz Answer Key

I.
East has the ♠ A. With the ♠ J in dummy, South would win the ♠ A if he had it, and later lead toward the 

♠ J for an additional trick. East’s failure to signal suggests either he started with ♠ A-8 doubleton, or he
desperately wants a switch. You have to work out which one it is. 
II.
South has the ♠ Q. If South did not have the ♠ Q, he would have started spades by leading toward 


dummy’s holding.
III.
East has the ♠ 9. If South held any combination including the ♠ 9, his normal play would be low from


dummy, which wins any time West has led from either or both missing honors. (If South has ♠ K9x,


plays low from dummy, and East produces the ♠ 10, South can always finesse the ♠ J later).

IV.
East has the ♠ J. If South had the ♠ J, he would have started the suit from dummy, intending to finesse. 

V.
Play low. Unless you are defending something like 6NT, or you are marked with club length, declarer


is highly unlikely to be making this play from ♣ AKx, the only holding where playing low loses. 

VI.
East has the ♠ A. If South held it, he would have taken the trick, for dummy’s ♠ T98 would provide a 


second stopper. (East apparently has ♠ A-7 doubleton, and could not afford to overtake without setting 


up a trick in dummy).  Obviously, if you are defending a slam, South has the ♠ A, and it cannot be 

wrong to continue with the ♠ Q. 

VII.
East has the ♠ J. If South had ♠ AJx, he would play low from the dummy. 
VIII.
South figures to the hold the ♠ Q. Good defenders rarely underlead aces when the stronger hand lies to

to their right. Good declarers know this. Therefore, any time South has shown strength during the bidding and an opening lead comes through a K-J combination, it is almost always right to play the Jack. The fact that South played the King from dummy is an indication that he knows where the Queen is (it’s in his hand), - or he’s not a very good declarer. 

IX.
South holds the ♠ Q. If he held ♠ AQTx, he would have run the opening lead to his hand, assuring 4 
tricks.  Thus, declarer can’t hold 4 spades. If partner held the ♠ Q, he would have played a lower spot card (UDCA – remember?) to show it. Partner’s play of the ♠ 7, along with declarer’s play of the ♠ 10, nearly guarantees that declarer started with ♠ AQT and partner with ♠ 7xx.

X.
West has the ♠ J. If declarer had the ♠ J, he would win the ♠ A in dummy in order to lead toward the ♠ J later. Your answer would be the same at no trump for the same reason.  (There’s a slight possibility that with ♠ Jxx and without first round trump control, declarer has ducked to sever communications between the defenders, hoping that West has the Ace of Trumps, but that should become evident right away.
XI.


S: ♠ T





After drawing trumps and testing diamonds 




H: ♥ T 9 7 6




for a 3-3 split, declarer had no choice but to




D: ♦ 5 4 3 2




run his trumps and hope either clubs split 




C: ♣ 6 5 4 3




3-2 or somebody made a defensive error. 

S: ♠ K J 8 7 4 3



S: ♠ A Q 9 6 5 2
Partner’s encouraging ♣ 2 might have led 

H: ♥ 2





H: ♥ 4 3

you to believe that he was protecting clubs, 

D: ♦ 7 6




D: ♦ J T 9 8

but you should know better.

C: ♣ J T 9 7




C: ♣ 2

S: ♠ ---





West should realize that if South had any 




H: ♥ A K Q J 8 5



losing spades, he would have trumped them




D: ♦ A K Q 




in dummy, so he discards all his spades and




C: ♣ A K Q 8




saves all his clubs. 

---------------------------------------------------------------------------------------------------------------------------------------

XII.


S: ♠ A Q T 4




You shouldn’t need to worry, because you




H: ♥ 5 3




jettisoned the ♦ K under the ♦ A! South’s 




D: ♦ Q 7 6 5 4




failure to finesse in diamonds suggests he




C: ♣ 7 6




doesn’t hold the ♦ J, and that is the entry to 

S: ♠ 7 6




S: ♠ 3 2

your partner’s hand. You don’t want to be 

H: ♥ A Q 6 4




H: ♥ J T 9 8

on lead with the ♦ K, forced to lead away 

D: ♦ K T




D: ♦ J 9 2

from either hearts or clubs. 

C: ♣ A 9 8 5 3




C: ♣ Q J 4 2

S: ♠ K J 9 8 5




Once West unblocks, East wins the third



H: ♥ K 7 2




diamond and can lead both hearts and clubs




D: ♦ A 8 3




through declarer’s kings to defeat the 




C: ♣ K T




contract. 

---------------------------------------------------------------------------------------------------------------------------------------
XIII.


S: ♠ J 3 2




Although it may be tempting to switch to a 




H: ♥ A 8 4




diamond, East must reason that 9 diamonds




D: ♦ 6 4




are missing, and if partner had 5, he probab-




C: ♣ A Q T 9 8



ly would have led one in preference to a 

S: ♠ T 8 4




S: ♠ Q 9 7 6

broken four card heart suit.  Declarer is the

H: ♥ Q T 6 2




H: ♥ K 7 3

the one most likely to hold 5 diamonds. East

D: ♦ A Q 3 2




D: ♦ T 9

should continue hearts.

C: ♣ 7 3




C: ♣ 6 5 4 2

S: ♠ A K 5




Note that if East shifts to a diamond, West 




H: ♥ J 9 5




can not continue the heart attack from his




D: ♦ K J 8 7 5




side, and declarer will have time to set up




C: ♣ K J




a diamond for his ninth trick. 

---------------------------------------------------------------------------------------------------------------------------------------

XIV.


S: ♠ 9 8 3




Declarer ducks the opening lead. Why?




H: ♥ K 2 




East must realize from the auction that 




D: ♦ Q 7 6 5 4




declarer is at least 5-5 with a most 1 heart




C: ♣ T 9 8




and 2 spades. To bid all by himself, without

S: ♠ A Q T




S: ♠ J 7 6 5 2 

the ♦ K or ♦ Q, certainly his clubs must be

H: ♥ Q J T 7 6 5



H: ♥ A 9 4 3

very good. He can’t have any losers in clubs.

D: ♦ 9 8




D: ♦ K


It’s also a very good bet that he has the ♠ A,

C: ♣ 5 2




C: ♣ 7 6 3

but then, he’s making 12 tricks anyway.

S: ♠ K 4




 




H: ♥ 8





The only chance to beat this contract is to




D: ♦ A J T 3 2




rise with the ♥ A and shift to a spade. It does




C: ♣ A K Q J 4



not rate to work, but there’s no other chance.






























South	West	North	East


  1D	 2H*	 Pass	 4H


  5C	 Pass	  5D    All Pass














South	       North


  1NT	        3NT














South	West	North	East


  1S	 Dbl	  3S*	Pass


  All Pass		  *Weakish





South	  North	


  2C	    2D       


  2H	    4H


  7H


















































